Multiplication to 100 - crossword [2] {Name;
Fill in the blanks in the crossword puzzle to get [~ -roooooo
true equality.
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Multiplication to 100 - crossword [2]

Fill in the blanks in the crossword puzzle to get

true equality.

[Name:

20 2

2(-11(=[2| |6]-|9|=|54
1o-1=1=o Z 3=1=2 71 .18 =56
10| - |5|=150| |7|-|4]|=]|28 6=3 1
1:o| 5 5 -6 =30 |8 e=3 64
5 ; 3 58; 2&é=4
3/-]1|=13 4=o 4 4.1=1=6

1=5 2 ; 9| =181 z=3 9| =72
71-13|=121] [4]|-|8|=32| |2|-|7|=|14
5 Z 6=3=6 6 3=1=8

3=5 7 - 7]=49 4=8 9 - 5|=45

4=2 2=7
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